Reading comprehension 01

Item 1

Emily has three dogs and two cats. They are all brown, but one of the dogs has spots. His name is Spot.

Which of the following is true?

Answer(Label) Answer Mark

A Emily has more dogs than cats. 1

B All of Emily’'s dogs have spots. 0

C One of Emily's dogs has spots. 1

D Emily has three animals in total. 0
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The sentence below does not have any punctuation. Choose the option with the correct punctuation.

i am a good runner

Answer(Label) Answer Mark

A i am a good runner. 0

B I am a good runner 0

C I'am a good runner. 1
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Can you retell the story in order of events?

Marking Rubric

1 Mark

Correct

Yes

Yes

1 Mark

Correct

Yes

1 Mark

When exploring story structure with students, focus on the sequence of events. These questions will help children
understand that events happen in a particular order, how they affect one another and what happens to the characters.

Marking Scheme Componants

Identifier Name Description Mark Half Marks

ideas Ideas 1 No



structure

punctuation

Text structure

Punctuation

No

No

Remarks:




